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The number of hits vs. sensor ID
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ADC of raw hits at time bin 0 vs. channel geometry ID
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ADC of raw hits at time bin 1 vs. channel geometry ID
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ADC of raw hits at time bin 2 vs. channel geometry ID
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ADC of raw hits at time bin 3 vs. channel geometry ID
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ADC of raw hits at time bin 4 vs. channel geometry ID
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ADC of raw hits at time bin 5 vs. channel geometry ID
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ADC of raw hits at time bin 6 vs. channel geometry ID
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ADC of raw hits at time bin 7 vs. channel geometry ID
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ADC of raw hits at time bin 8 vs. channel geometry ID
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RMS noise of raw hits vs. channel geometry ID
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ADC of hits vs. sensor ID

2000
I
3500
(@)

<5000

|
Al
o
o

20 40 60 80 100 120 140

Tue Feb 25 00:11:07 2014 Sensor ID



RMS noise of hits vs. sensor ID
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Max time bin of hits vs. sensor ID
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Cluster size of hits vs. sensor ID
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er size in Z of hits vs. sensor ID
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Cluster size in r-@ of hits vs. sensor ID
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IST hit map in r-phivs. Z
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IST hit map in APV geometry Id vs. ladder
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Global X vs. Global Y
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Global @vs. Global Z
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Raw Hit column vs. row: Ladder 1 Sensor 1
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Hit mean column vs. mean row: Ladder 1 Sensor 1
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Number of raw hits vs. EventlD: Ladder 1 Sensor 1 numOfRawHitsVsEventid_Sensorl
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Raw Hit column vs. row: Ladder 1 Sensor 2
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Hit mean column vs. mean row: Ladder 1 Sensor 2
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Number of raw hits vs. EventlID: Ladder 1 Sensor 2
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Raw Hit column vs. row: Ladder 1 Sensor 3
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Hit mean column vs. mean row: Ladder 1 Sensor 3
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Number of raw hits vs. EventlID: Ladder 1 Sensor 3 numOfRawHitsVsEventid_Sensor3
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Raw Hit column vs. row: Ladder 1 Sensor 4
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Hit mean column vs. mean row: Ladder 1 Sensor 4
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Number of raw hits vs. EventlD: Ladder 1 Sensor 4 numOfRawHitsVsEventld_Sensor4
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Raw Hit column vs. row: Ladder 1 Sensor 5
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Hit mean column vs. mean row: Ladder 1 Sensor 5
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Number of raw hits vs. EventlD: Ladder 1 Sensor 5 numOfRawHitsVsEventid_Sensors
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Raw Hit column vs. row: Ladder 1 Sensor 6
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Hit mean column vs. mean row: Ladder 1 Sensor 6
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Number of raw hits vs. EventlID: Ladder 1 Sensor 6 numOfRawkitsVsEventid_Sensoré
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Raw Hit column vs. row: Ladder 2 Sensor 1
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Hit mean column vs. mean row: Ladder 2 Sensor 1
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Number of raw hits vs. EventID: Ladder 2 Sensor 1 numOfRawHitsVsEventid_Sensor?
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Raw Hit column vs. row: Ladder 2 Sensor 2
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Hit mean column vs. mean row: Ladder 2 Sensor 2
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Number of raw hits vs. EventlID: Ladder 2 Sensor 2 numOfRawHitsVsEventd_Sensor8

. . . . . . . . Entries 1606
Tt T e R e e i Mean 528.8

L [ Meany 0
- |Rws 3174

<rawhits>
[

QB e RMSY O
S e St S S S S e e —
s T s s

T -

O_IIIIillIIillIIillIIillIIillIIiIIIIiIIIIiIIIIiIIII

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:09 2014 EventID (Time)




Raw Hit column vs. row: Ladder 2 Sensor 3
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Hit mean column vs. mean row: Ladder 2 Sensor 3
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Number of raw hits vs. EventlID: Ladder 2 Sensor 3 numOfRawHitsVsEventid_Sensoro
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Raw Hit column vs. row: Ladder 2 Sensor 4
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Hit mean column vs. mean row: Ladder 2 Sensor 4
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Number of raw hits vs. EventlD: Ladder 2 Sensor 4 pumOfRawHitsVsEventid_Sensor10
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Raw Hit column vs. row: Ladder 2 Sensor 5
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Hit mean column vs. mean row: Ladder 2 Sensor 5
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Number of raw hits vs. EventlID: Ladder 2 Sensor 5 numOfRawHitsVsEventid_Sensor11
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Raw Hit column vs. row: Ladder 2 Sensor 6
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Hit mean column vs. mean row: Ladder 2 Sensor 6
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Number of raw hits vs. EventID: Ladder 2 Sensor 6
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Raw Hit column vs. row: Ladder 3 Sensor 1
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Hit mean column vs. mean row: Ladder 3 Sensor 1
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Number of raw hits vs. EventlD: Ladder 3 Sensor 1 humOiRawHitsVsEventid_Sensor13
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Raw Hit column vs. row: Ladder 3 Sensor 2
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Hit mean column vs. mean row: Ladder 3 Sensor 2
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Number of raw hits vs. EventlID: Ladder 3 Sensor 2 pumOfRawHitsVsEventid_Sensor14
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Raw Hit column vs. row: Ladder 3 Sensor 3
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Hit mean column vs. mean row: Ladder 3 Sensor 3
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Number of raw hits vs. EventlID: Ladder 3 Sensor 3 pumofRawHitsVsEventid_Sensor15
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Raw Hit column vs. row: Ladder 3 Sensor 4
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Hit mean column vs. mean row: Ladder 3 Sensor 4
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Number of raw hits vs. EventlD: Ladder 3 Sensor 4 pumOfRawHitsVsEventid_Sensor16

. . . . . . . . Entries 1606
20 - RS T AR e e, S e S Mean 528.8

Mean y 2.649
18 RMS 317.4

<rawhits>

14—

SO S e |RMSY 3083

12 . . .
T e e e

.......................................................................................................................

.........................................................................................................................

500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:09 2014 EventID (Time)




Raw Hit column vs. row: Ladder 3 Sensor 5
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Hit mean column vs. mean row: Ladder 3 Sensor 5
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Number of raw hits vs. EventlID: Ladder 3 Sensor 5 pumOfRawHitsVsEventid_Sensor17
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Raw Hit column vs. row: Ladder 3 Sensor 6
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Hit mean column vs. mean row: Ladder 3 Sensor 6
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Number of raw hits vs. EventlID: Ladder 3 Sensor 6 pumOfRawHitsVsEventid_Sensor1
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Raw Hit column vs. row: Ladder 4 Sensor 1
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Hit mean column vs. mean row: Ladder 4 Sensor 1
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Number of raw hits vs. EventlID: Ladder 4 Sensor 1 pumOfRawHitsVsEventid_Sensor19
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Raw Hit column vs. row: Ladder 4 Sensor 2
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Hit mean column vs. mean row: Ladder 4 Sensor 2
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Number of raw hits vs. EventlID: Ladder 4 Sensor 2 pumOfRawHitsVsEventid_Sensor20
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Raw Hit column vs. row: Ladder 4 Sensor 3
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Hit mean column vs. mean row: Ladder 4 Sensor 3
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Number of raw hits vs. EventlID: Ladder 4 Sensor 3 numOfRawHitsVsEventid_Sensor21
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Raw Hit column vs. row: Ladder 4 Sensor 4
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Hit mean column vs. mean row: Ladder 4 Sensor 4
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Number of raw hits vs. EventID: Ladder 4 Sensor 4
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Raw Hit column vs. row: Ladder 4 Sensor 5
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Hit mean column vs. mean row: Ladder 4 Sensor 5
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Number of raw hits vs. EventlID: Ladder 4 Sensor 5 pumofRawHitsVsEventid_Sensor23
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Raw Hit column vs. row: Ladder 5 Sensor 2
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Raw Hit column vs. row: Ladder 5 Sensor 3
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Raw Hit column vs. row: Ladder 5 Sensor 4

Tue Feb 25 00:11:10 2014



Hit mean column vs. mean row: Ladder 5 Sensor 4

=
o
(0
c
@©
5
=

12
Mean Column

Tue Feb 25 00:11:10 2014



Number of raw hits vs. EventlD: Ladder 5 Sensor 4 pumOfRawHitsVsEventid_Sensor2s

Entries 1606
E : : ; : : : : : Mean 528.8
I A e e oo i Mean'y 2,649
- | : 5 5 5 5 5 " |RMs 317.4

<rawhits>

TP e o RMSY 2,971

I e e e

(| I1IIIIilllIilllIilllIillllillllillllillll
OO 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Tue Feb 25 00:11:10 2014 EventID (Time)




Raw Hit column vs. row: Ladder 5 Sensor 5
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Raw Hit column vs. row: Ladder 5 Sensor 6
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Raw Hit column vs. row: Ladder 6 Sensor 2

Tue Feb 25 00:11:10 2014



Hit mean column vs. mean row: Ladder 6 Sensor 2

=
o
(0
c
@©
5
=

Tue Feb 25 00:11:10 2014 Mean Column



Number of raw hits vs. EventlID: Ladder 6 Sensor 2 pumOfRawHitsVsEventid_Sensor32

. . . . . . . . Entries 1606
L8[ Mean 528.8
5 5 5 5 : : : : Mean y 2.337
RMS 317.4

<rawhits>

T e s s s e o

14

S T W H— T T S— — i |[RMSY 2,829

.................................................................................................................................................

12

10

........................................................................................................................

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:10 2014 EventID (Time)




Raw Hit column vs. row: Ladder 6 Sensor 3
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Raw Hit column vs. row: Ladder 6 Sensor 4
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Raw Hit column vs. row: Ladder 6 Sensor 5
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Raw Hit column vs. row: Ladder 7 Sensor 1
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Raw Hit column vs. row: Ladder 7 Sensor 2
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Raw Hit column vs. row: Ladder 7 Sensor 3

2

Tue Feb 25 00:11:10 2014




Hit mean column vs. mean row: Ladder 7 Sensor 3
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Raw Hit column vs. row: Ladder 7 Sensor 4
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Raw Hit column vs. row: Ladder 7 Sensor 5
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Hit mean column vs. mean row: Ladder 7 Sensor 5
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Raw Hit column vs. row: Ladder 7 Sensor 6
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Raw Hit column vs. row: Ladder 8 Sensor 1
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Raw Hit column vs. row: Ladder 8 Sensor 2
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Raw Hit column vs. row: Ladder 8 Sensor 3
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Raw Hit column vs. row: Ladder 8 Sensor 4
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Raw Hit column vs. row: Ladder 8 Sensor 5
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Hit mean column vs. mean row: Ladder 8 Sensor 5

Mean Row

2 4 6 8 10 12
Mean Column

Tue Feb 25 00:11:11 2014



Number of raw hits vs. EventID: Ladder 8 Sensor 5 pumOfRawHitsVsEventid_Sensora?
A Entries 1606
a - Mean 528.8
S 16 Mean y. 2,318
\g 14: RMS 317.4
- . |RMSy 2.7
B .l e
10 :_ ...........................................................................................................................
sl . _——,,—,—,,,e-

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:11 2014 EventID (Time)




Raw Hit column vs. row: Ladder 8 Sensor 6
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Raw Hit column vs. row: Ladder 9 Sensor 1
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Raw Hit column vs. row: Ladder 9 Sensor 2
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Raw Hit column vs. row: Ladder 9 Sensor 3
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Raw Hit column vs. row: Ladder 9 Sensor 4
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Raw Hit column vs. row: Ladder 9 Sensor 5
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Raw Hit column vs. row: Ladder 9 Sensor 6
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Raw Hit column vs. row: Ladder 10 Sensor 1
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Raw Hit column vs. row: Ladder 10 Sensor 2
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Raw Hit column vs. row: Ladder 10 Sensor 3

Tue Feb 25 00:11:11 2014



Hit mean column vs. mean row: Ladder 10 Sensor 3
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Raw Hit column vs. row: Ladder 10 Sensor 4
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Raw Hit column vs. row: Ladder 10 Sensor 5
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Raw Hit column vs. row: Ladder 10 Sensor 6
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Raw Hit column vs. row: Ladder 11 Sensor 4
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Raw Hit column vs. row: Ladder 11 Sensor 5
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Raw Hit column vs. row: Ladder 11 Sensor 6
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Tue Feb 25 00:11:12 2014



Hit mean column vs. mean row: Ladder 12 Sensor 1

=
o
(0
c
@
0]
=

Tue Feb 25 00:11:12 2014 Mean Column



Number of raw hits vs. EventID: Ladder 12 Sensor 1 pumOfRawHitsVsEventid_Sensor67

22 ; 5 5 5 5 5 5 5 Entries 1606
- i i i 5 . |Mean 528.8

20:_ Mean y 1.901
18 [ e o s s E— i RMS 3174

<rawhits>

RMS :
16 5 y 2.589

.....................................................................................................................................................

14

500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:12 2014 EventID (Time)




Raw Hit column vs. row: Ladder 12 Sensor 2
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Raw Hit column vs. row: Ladder 12 Sensor 3
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Raw Hit column vs. row: Ladder 12 Sensor 4
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=
o
(0
c
@©
5
=

10
Mean Column

Tue Feb 25 00:11:12 2014



Number of raw hits vs. EventlID: Ladder 12 Sensor 5 numOfRawHitsVsEventid_Sensor71

: . . . . . . . Entries 1606
-y . [Mean 5288
12 _ ) """""""" """""""" """""""" """""""" """"""" """" Mean y 2.278
-y |Rus 3174
ol -l [Rsy 2673

<rawhits>
[

‘I IIIIIilllIilllIilllIillllillllillllillll
OO 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Tue Feb 25 00:11:12 2014 EventID (Time)




Raw Hit column vs. row: Ladder 12 Sensor 6
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Raw Hit column vs. row: Ladder 13 Sensor 1
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Raw Hit column vs. row: Ladder 13 Sensor 2
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Raw Hit column vs. row: Ladder 13 Sensor 3
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Raw Hit column vs. row: Ladder 13 Sensor 4
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Raw Hit column vs. row: Ladder 13 Sensor 5
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Raw Hit column vs. row: Ladder 13 Sensor 6
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Raw Hit column vs. row: Ladder 14 Sensor 1
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Raw Hit column vs. row: Ladder 14 Sensor 2
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Raw Hit column vs. row: Ladder 14 Sensor 3
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Raw Hit column vs. row: Ladder 14 Sensor 4
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Raw Hit column vs. row: Ladder 14 Sensor 6
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Raw Hit column vs. row: Ladder 15 Sensor 1
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Raw Hit column vs. row: Ladder 15 Sensor 3
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Raw Hit column vs. row: Ladder 15 Sensor 4
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Raw Hit column vs. row: Ladder 15 Sensor 5
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Raw Hit column vs. row: Ladder 15 Sensor 6
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Raw Hit column vs. row: Ladder 16 Sensor 1
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Raw Hit column vs. row: Ladder 16 Sensor 2
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Raw Hit column vs. row: Ladder 16 Sensor 3
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Raw Hit column vs. row: Ladder 16 Sensor 4
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Raw Hit column vs. row: Ladder 16 Sensor 5
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Raw Hit column vs. row: Ladder 16 Sensor 6
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Raw Hit column vs. row: Ladder 17 Sensor 1
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Raw Hit column vs. row: Ladder 17 Sensor 2
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Raw Hit column vs. row: Ladder 17 Sensor 3
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Raw Hit column vs. row: Ladder 17 Sensor 4
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Raw Hit column vs. row: Ladder 17 Sensor 5
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Raw Hit column vs. row: Ladder 17 Sensor 6
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Raw Hit column vs. row: Ladder 18 Sensor 1
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Raw Hit column vs. row: Ladder 18 Sensor 2
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Raw Hit column vs. row: Ladder 18 Sensor 3
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Raw Hit column vs. row: Ladder 18 Sensor 4
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Raw Hit column vs. row: Ladder 18 Sensor 5
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Raw Hit column vs. row: Ladder 18 Sensor 6
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Raw Hit column vs. row: Ladder 19 Sensor 1
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Raw Hit column vs. row: Ladder 19 Sensor 2
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Raw Hit column vs. row: Ladder 19 Sensor 3
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Raw Hit column vs. row: Ladder 19 Sensor 4
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Raw Hit column vs. row: Ladder 19 Sensor 5
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Raw Hit column vs. row: Ladder 19 Sensor 6
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Raw Hit column vs. row: Ladder 20 Sensor 1
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Raw Hit column vs. row: Ladder 20 Sensor 2
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Raw Hit column vs. row: Ladder 20 Sensor 3
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Raw Hit column vs. row: Ladder 20 Sensor 4

Tue Feb 25 00:11:14 2014



Hit mean column vs. mean row: Ladder 20 Sensor 4

=
o
(0
c
@©
5
=

12
Mean Column

Tue Feb 25 00:11:14 2014



<rawhits>

Number of raw hits vs. EventID: Ladder 20 Sensor 4 NUMOIRawHtsVSEventld_Sensor18
Entries 1606

Mean 528.8

S R L R Mean y 2.425

RMS 317.4

e e s RMS'y 2.844

........................................................................................................................

......................................................................................................................

.....................................................................................................................

.....................................................................................................................

Tue Feb 25 00:11:14 2014

EventID (Time)

500 1000 1500 2000 2500 3000 3500 4000 4500 5000




Raw Hit column vs. row: Ladder 20 Sensor 5
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Hit mean column vs. mean row: Ladder 20 Sensor 5
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Raw Hit column vs. row: Ladder 20 Sensor 6
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Hit mean column vs. mean row: Ladder 20 Sensor 6
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Raw Hit column vs. row: Ladder 21 Sensor 1
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Raw Hit column vs. row: Ladder 21 Sensor 2

Tue Feb 25 00:11:14 2014



Hit mean column vs. mean row: Ladder 21 Sensor 2

Mean Row

Mean Column

Tue Feb 25 00:11:14 2014



Number of raw hits vs. EventlID: Ladder 21 Sensor 2 numOfRawHitsVsEventld_Sensor122

Entries 1606
: . ; : : : : : Mean 528.8
""""""" """""""" """""""" """""""" """"""" """" Mean y 2.22

5 5 5 5 5 5 5  |rRm™S 317.4

16

<rawhits>

...........................

14

...........

12

.......................................................................................................................

10

- . | . . . . . |RMSy 2666

—

-

N

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:14 2014 EventID (Time)




Raw Hit column vs. row: Ladder 21 Sensor 3
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Raw Hit column vs. row: Ladder 21 Sensor 4
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Hit mean column vs. mean row: Ladder 21 Sensor 4
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Raw Hit column vs. row: Ladder 21 Sensor 5
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Raw Hit column vs. row: Ladder 21 Sensor 6
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Raw Hit column vs. row: Ladder 22 Sensor 1
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Raw Hit column vs. row: Ladder 22 Sensor 2
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Raw Hit column vs. row: Ladder 22 Sensor 3
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Hit mean column vs. mean row: Ladder 22 Sensor 3
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Raw Hit column vs. row: Ladder 22 Sensor 4
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Hit mean column vs. mean row: Ladder 22 Sensor 4
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Raw Hit column vs. row: Ladder 22 Sensor 5
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Hit mean column vs. mean row: Ladder 22 Sensor 5
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Raw Hit column vs. row: Ladder 22 Sensor 6
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Hit mean column vs. mean row: Ladder 22 Sensor 6
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Raw Hit column vs. row: Ladder 23 Sensor 1
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Hit mean column vs. mean row: Ladder 23 Sensor 1
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Raw Hit column vs. row: Ladder 23 Sensor 2
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Hit mean column vs. mean row: Ladder 23 Sensor 2
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Raw Hit column vs. row: Ladder 23 Sensor 3
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Hit mean column vs. mean row: Ladder 23 Sensor 3
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Raw Hit column vs. row: Ladder 23 Sensor 4
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Hit mean column vs. mean row: Ladder 23 Sensor 4
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Raw Hit column vs. row: Ladder 23 Sensor 5
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Hit mean column vs. mean row: Ladder 23 Sensor 5

=
o
(0
c
@©
5
=

12
Mean Column

Tue Feb 25 00:11:15 2014



Number of raw hits vs. EventlID: Ladder 23 Sensor 5 numOfRawHitsVsEventid_Sensor1s7

Entries 1606
: . : , : , : : Mean 528.8
e — — _ — i Mean'y 2,184
5 5 5 5 5 5 5 . |RMS 317.4

14

<rawhits>

12

e RMSY 2,606

...............

10

................................................................................................................................

_*‘L___

N

"
i \'
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
OO 500 1000 1500 2000 2500 3000 3500 4000 4500 5000

Tue Feb 25 00:11:15 2014 EventID (Time)




Raw Hit column vs. row: Ladder 23 Sensor 6
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Hit mean column vs. mean row: Ladder 23 Sensor 6
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Hit mean column vs. mean row: Ladder 24 Sensor 1
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Raw Hit column vs. row: Ladder 24 Sensor 2
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Hit mean column vs. mean row: Ladder 24 Sensor 2
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Number of raw hits vs. EventlID: Ladder 24 Sensor 2 numOfRawHitsVsEventld_Sensor140
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Raw Hit column vs. row: Ladder 24 Sensor 3
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Hit mean column vs. mean row: Ladder 24 Sensor 3
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Raw Hit column vs. row: Ladder 24 Sensor 4
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Hit mean column vs. mean row: Ladder 24 Sensor 4

Mean Row

Tue Feb 25 00:11:16 2014 Mean Column



Number of raw hits vs. EventlID:; Ladder 24 Sensor 4 numOfRawHitsVsEventid_Sensor142
A Entries 1606
[ Mean 528.8
i d SR T o o A T Meany 2559
© — ; ; ; ; ; ; ; ;

Vo LG s AR e e o R RMS 317.4
n : : : : : : : : RMS y 3.015
Rl HE L R L L L MRS

........................................................................................................................

500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Tue Feb 25 00:11:16 2014 EventID (Time)




Raw Hit column vs. row: Ladder 24 Sensor 5
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Hit mean column vs. mean row: Ladder 24 Sensor 5
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Raw Hit column vs. row: Ladder 24 Sensor 6
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Hit mean column vs. mean row: Ladder 24 Sensor 6
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